



Tên: _____

Ngày tháng: _____ Điểm: _____

$$\left(\frac{1}{3} - \frac{3}{2}\right)^2 - \frac{1}{5}\left(\frac{1}{3} + \left(\frac{1}{3}\right)^2\right) =$$

$$\left(\frac{3}{5} - \left(\frac{1}{3}\right)^2\right) \times \frac{3}{4} - \left(\frac{3}{5} + \frac{1}{5}\right)^2 =$$

$$\left(\frac{2}{3} + \frac{3}{5}\right)^2 + \frac{1}{2}\left(\frac{1}{4} + \frac{1}{3}\right) =$$

$$\left(3 - \frac{1}{4}\right)^2 - \frac{1}{2} + 2^2 - \frac{1}{4} =$$

$$\left(\frac{3}{5} - \frac{1}{2}\right)^2 - \frac{1}{2}\left(\frac{1}{5} - \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\frac{3}{4} + \frac{2}{5}\right)^2 + \frac{1}{5}\left(\frac{1}{2} + \left(\frac{1}{3}\right)^2\right) =$$

$$\left(2 - \frac{2}{5}\right)^2 + \frac{1}{3} - \frac{1}{2} + 2^2 =$$

$$\left(\frac{3}{2} - \left(\frac{1}{4}\right)^2\right) \times \frac{1}{3} + \left(\frac{3}{5} + \frac{1}{2}\right)^2 =$$

$$\left(\frac{1}{2} - \frac{3}{4}\right)^2 + \frac{3}{5}\left(\frac{3}{4} + \frac{1}{2}\right) =$$

$$\left(2 - \frac{2}{3}\right)^2 - \frac{2}{3} + 5^2 + \frac{3}{2} =$$



Tên: _____

Ngày tháng: _____ Điểm: _____

$$\left(\frac{1}{3} - \frac{3}{2}\right)^2 - \frac{1}{5}\left(\frac{1}{3} + \left(\frac{1}{3}\right)^2\right) = \frac{229}{180} = 1\frac{49}{180}$$

$$\left(\frac{3}{5} - \left(\frac{1}{3}\right)^2\right) \times \frac{3}{4} - \left(\frac{3}{5} + \frac{1}{5}\right)^2 = \left(-\frac{41}{150}\right)$$

$$\left(\frac{2}{3} + \frac{3}{5}\right)^2 + \frac{1}{2}\left(\frac{1}{4} + \frac{1}{3}\right) = \frac{3413}{1800} = 1\frac{1613}{1800}$$

$$\left(3 - \frac{1}{4}\right)^2 - \frac{1}{2} + 2^2 - \frac{1}{4} = \frac{173}{16} = 10\frac{13}{16}$$

$$\left(\frac{3}{5} - \frac{1}{2}\right)^2 - \frac{1}{2}\left(\frac{1}{5} - \left(\frac{1}{2}\right)^2\right) = \frac{7}{200}$$

$$\left(\frac{3}{4} + \frac{2}{5}\right)^2 + \frac{1}{5}\left(\frac{1}{2} + \left(\frac{1}{3}\right)^2\right) = \frac{5201}{3600} = 1\frac{1601}{3600}$$

$$\left(2 - \frac{2}{5}\right)^2 + \frac{1}{3} - \frac{1}{2} + 2^2 = \frac{959}{150} = 6\frac{59}{150}$$

$$\left(\frac{3}{2} - \left(\frac{1}{4}\right)^2\right) \times \frac{1}{3} + \left(\frac{3}{5} + \frac{1}{2}\right)^2 = \frac{2027}{1200} = 1\frac{827}{1200}$$

$$\left(\frac{1}{2} - \frac{3}{4}\right)^2 + \frac{3}{5}\left(\frac{3}{4} + \frac{1}{2}\right) = \frac{13}{16}$$

$$\left(2 - \frac{2}{3}\right)^2 - \frac{2}{3} + 5^2 + \frac{3}{2} = \frac{497}{18} = 27\frac{11}{18}$$